Statics Formula Sheet
Statics of a Particle
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Statics of a Rigid Body
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Compounding forces and couples
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Loads
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Trusses

Zero Force members:

1) If only two members meet at an unloaded joint, both are zero force members.

2) If 3 members meet at an unloaded joint of which two are in a direct line with one another, then the third is a zero-force member.
3) If two members meet at a loaded joint and the line of action of the load coincides with one of the members, the other is a zero force member.

Bending Moment, Shear Force and Normal Force Diagrams


[image: image21.wmf]z

Vqdx

=-

ò



[image: image22.wmf]MVdx

=

ò



[image: image23.wmf]z

dV

q

dx

=-



[image: image24.wmf]dM

V

dx

=



[image: image25.wmf]x

dN

q

dx

=-


Cables
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Virtual Work

Horizontal displacement = rotation x vertical distance
Vertical displacement= rotation x horizontal distance


[image: image36.wmf]dAFdr

=*


_1285954709.unknown

_1285957696.unknown

_1285962305.unknown

_1285964303.unknown

_1285964332.unknown

_1285964097.unknown

_1285964277.unknown

_1285964182.unknown

_1285962402.unknown

_1285957876.unknown

_1285962013.unknown

_1285962269.unknown

_1285961872.unknown

_1285957776.unknown

_1285956769.unknown

_1285957159.unknown

_1285957630.unknown

_1285957123.unknown

_1285956680.unknown

_1285956734.unknown

_1285956606.unknown

_1285953921.unknown

_1285954392.unknown

_1285954581.unknown

_1285954647.unknown

_1285954412.unknown

_1285954182.unknown

_1285954301.unknown

_1285953975.unknown

_1285951712.unknown

_1285952294.unknown

_1285953826.unknown

_1285952211.unknown

_1285951480.unknown

_1285951630.unknown

_1285951451.unknown

